Spring 2024 Semester | Valerie Andrews | Course CIP Code: 51.3901

25 | Students Enrolled17 | Students Responded68% | Response Rate

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	<u>SD</u>	M
Instructor uses a variety of teaching techniques.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.71
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Instructor uses examples and explana- tions to clarify material.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.71
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
nstructor demonstrates knowledge of the subject matter.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
This instructor requires me to be an ac- ive participant in class.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
nstructor promotes an open atmos- phere in discussions, critiques, etc.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The instructor was available (during of- ice hours, by e-mail/chat, or by appoint- nent) for consultation with students.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	М
The instructor shows respect for students.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor follows a course document, outline, or schedule.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
This instructor explains material well through written documents and/or graphic presentation, in person or online.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
he instructor uses language that is clear and easy to understand.	29.41% (5)	11.76% (2)	58.82% (10)	0% (0)	0% (0)	17	0	0.89	3.7
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
he material is presented in an orga- nized manner.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The course objectives are clear.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M

Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
70.59% (12)	17.65% (3)	11.76% (2)	0% (0)	0% (0)	17	0	0.69	4.59
Α	В	С	D	F	Ņ	DNA	SD	M
52.94% (9)	47.06% (8)	0% (0)	0% (0)	0% (0)	17	0	-	-
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
47.06% (8)	5.88% (1)	47.06% (8)	0% (0)	0% (0)	17	0	0.97	4
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
	Agree 76.47% (13) Strongly Agree 76.47% (13)	Agree 76.47% (13) 11.76% (2) Strongly Agree Agree 70.59% (12) 17.65% (3) A B 52.94% (9) 47.06% (8) Strongly Agree Agree	Agree Agree Undecided 76.47% (13) 11.76% (2) 11.76% (2) 76.47% (13) 11.76% (2) 11.76% (2) Strongly Agree Undecided Agree 76.47% (13) 11.76% (2) 11.76% (2) Strongly Agree Undecided Undec	Agree From Strongly Agree Undecided Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) Strongly Agree Jundecided Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) Strongly Agree Jundecided Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) Strongly Agree Jundecided Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) Strongly Agree Undecided Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) Strongly Agree Undecided Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) Strongly Agree Undecided Disagree 76.47% (13) 11.76% (2) 0% (0) Strongly Agree Undecided Disagree 76.47% (13) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 70.59% (12) 17.65% (3)	Agree Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Agree Undecided Disagree Strongly Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) Strongly Agree Un	Agree Undecided Disagree Image: Comply (Comply (Comp	Agree Disagree Disagree Disagree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) 17 0 Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Agree <td< td=""><td>Agree Josagree <t< td=""></t<></td></td<>	Agree Josagree Josagree <t< td=""></t<>

25 | Students Enrolled17 | Students Responded68% | Response Rate

Spring 2024 Semester | Deborah Biscoe-Ingram | Course CIP Code: 51.3901

Quantitative

-									
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Instructor uses a variety of teaching techniques.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.82
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor uses examples and explana- cions to clarify material.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.82
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor demonstrates knowledge of he subject matter.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.82
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
his instructor requires me to be an ac- ive participant in class.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor promotes an open atmos- here in discussions, critiques, etc.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	W	DNA	SD	M
he instructor was available (during of- ice hours, by e-mail/chat, or by appoint- nent) for consultation with students.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
he instructor shows respect for students.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor follows a course document, outline, or schedule.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
his instructor explains material well hrough written documents and/or traphic presentation, in person or online.	35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.8
minic.									
nume.	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
he instructor uses language that is		Agree 11.76% (2)	Undecided 52.94% (9)	Disagree		N 17	DNA 0	SD 0.92	
he instructor uses language that is	Agree				Disagree			0.92	
The instructor uses language that is clear and easy to understand. The material is presented in an orga-	Agree 35.29% (6) Strongly	11.76% (2)	52.94% (9)	0% (0)	Disagree 0% (0) Strongly	17	0	0.92	3.8 <u>M</u>
The instructor uses language that is clear and easy to understand. The material is presented in an organized manner.	Agree 35.29% (6) Strongly Agree	11.76% (2) Agree	52.94% (9) Undecided	0% (0) Disagree	O% (0) Strongly Disagree	17 <u>N</u>	0 DNA	0.92 SD 0.68	3.8 <u>M</u>

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>Ņ</u>	DNA	SD	M
The required text is comprehensible.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
The required text was an important component of the course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Course assignments and exams are evaluated and graded fairly.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	<u>SD</u>	M
Exams reflect the course content and classroom experience.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	<u>SD</u>	M
Grading procedures are easy to understand.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
received feedback on my performance in a reasonable time frame.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
have learned a great deal in this course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	<u>SD</u>	M
Overall, I would recommend this course to other students.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
put a lot of effort into this course.	70.59% (12)	17.65% (3)	11.76% (2)	0% (0)	0% (0)	17	0	0.69	4.5
	Α	В	С	D	F	<u>N</u>	DNA	SD	М
What grade do you expect to receive in this course?	52.94% (9)	47.06% (8)	0% (0)	0% (0)	0% (0)	17	0	-	-
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
Instructor is prepared and on time.	47.06% (8)	11.76% (2)	41.18% (7)	0% (0)	0% (0)	17	0	0.94	4.0
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M

Spring 2024 Semester | Jennifer Cowan | Course CIP Code: 51.3901

25 | Students Enrolled17 | Students Responded68% | Response Rate

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Instructor uses a variety of teaching techniques.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.59
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Instructor uses examples and explana- tions to clarify material.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.59
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Instructor demonstrates knowledge of the subject matter.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
This instructor requires me to be an ac- ive participant in class.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
nstructor promotes an open atmos- phere in discussions, critiques, etc.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The instructor was available (during of- fice hours, by e-mail/chat, or by appoint- ment) for consultation with students.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	М
The instructor shows respect for students.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor follows a course document, outline, or schedule.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
This instructor explains material well through written documents and/or graphic presentation, in person or online.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The instructor uses language that is clear and easy to understand.	76.47% (13)	5.88% (1)	17.65% (3)	0% (0)	0% (0)	17	0	0.77	4.5
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	М
he material is presented in an orga- nized manner.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The course objectives are clear.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly	Agree	Undecided	Disagree	Strongly	N	DNA	SD	М
	Agree	Agree	Ondecided	Disagree	Disagree		PINA		

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
The required text was an important component of the course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Course assignments and exams are evaluated and graded fairly.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Exams reflect the course content and classroom experience.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	М
Grading procedures are easy to understand.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
l received feedback on my performance in a reasonable time frame.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
l have learned a great deal in this course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Overall, I would recommend this course to other students.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
l put a lot of effort into this course.	70.59% (12)	17.65% (3)	11.76% (2)	0% (0)	0% (0)	17	0	0.69	4.59
	Α	В	С	D	F	Ņ	DNA	SD	M
What grade do you expect to receive in this course?	52.94% (9)	47.06% (8)	0% (0)	0% (0)	0% (0)	17	0	-	-
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ň	DNA	SD	M
Instructor is prepared and on time.	82.35% (14)	0% (0)	17.65% (3)	0% (0)	0% (0)	17	0	0.76	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The instructor explains material well through verbal communication.	82.35% (14)	0% (0)	17.65% (3)	0% (0)	0% (0)	17	0	0.76	4.65

Spring 2024 Semester | Lauren McElyea | Course CIP Code: 51.3901

25 | Students Enrolled17 | Students Responded68% | Response Rate

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
Instructor uses a variety of teaching techniques.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.88
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
nstructor uses examples and explana- ions to clarify material.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.88
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
nstructor demonstrates knowledge of he subject matter.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
his instructor requires me to be an ac- ive participant in class.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
nstructor promotes an open atmos- phere in discussions, critiques, etc.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
he instructor was available (during of- ice hours, by e-mail/chat, or by appoint- nent) for consultation with students.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
he instructor shows respect for tudents.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
nstructor follows a course document, outline, or schedule.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
This instructor explains material well chrough written documents and/or graphic presentation, in person or nline.	88.24% (15)	5.88% (1)	5.88% (1)	0% (0)	0% (0)	17	0	0.51	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
he instructor uses language that is lear and easy to understand.	94.12% (16)	0% (0)	5.88% (1)	0% (0)	0% (0)	17	0	0.47	4.8
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
he material is presented in an orga- iized manner.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
The course objectives are clear.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
	Strongly	Agree	Undecided	Disagree	Strongly	N	DNA	SD	М
	Agree	Agree	Ondecided	Disagree	Disagree		PINA		

Course assignments and exams are eval custed and graded fairty. Agree (76.4% (13) 1.76% (2) 11.76% (2)	SD	DNA	N D	Ň	Strongly Disagree	Disagree	Undecided	Agree	Strongly Agree	
Agree	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	
Strongly Agree Strongly Agree Undecided Disagree Strongly Disagree N Disagree N	SD	DNA	N D	<u>N</u>	• •	Disagree	Undecided	Agree		
Agree	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	
Strongly Agree Strongly Agree Undecided Disagree Strongly Disagree N DN DN DN DN DN DN D	SD	DNA	N D	<u>N</u>		Disagree	Undecided	Agree		
Agree	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	
Strongly Agree Undecided Disagree Strongly Disagree N DN	SD	DNA	N D	<u>N</u>		Disagree	Undecided	Agree		
Preceived feedback on my performance in a reasonable time frame.	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	
Strongly Agree Undecided Disagree Strongly Disagree N DM	SD	DNA	N D	N		Disagree	Undecided	Agree		
Agree Disagree D	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	
Strongly Agree Strongly Agree Undecided Disagree Strongly Disagree N DIV Disagree D	SD	DNA	N D	N		Disagree	Undecided	Agree		
Agree Disagree D	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	<u> </u>
Strongly Agree Strongly Agree Undecided Disagree Strongly Disagree N DN	SD	DNA	N D	N		Disagree	Undecided	Agree		
Marce Marc	0.68	0	17 0	17	0% (0)	0% (0)	11.76% (2)	11.76% (2)	76.47% (13)	
A B C D F N DN/ What grade do you expect to receive in 52.94% (9) 47.06% (8) 0% (0) 0% (0) 0% (0) 17 0 Strongly Agree Undecided Disagree Strongly Disagree Instructor is prepared and on time. 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0 Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree Instructor is prepared and on time. 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0	SD	DNA	N D	Ņ		Disagree	Undecided	Agree		
What grade do you expect to receive in this course? Strongly Agree Undecided Disagree Strongly Disagree N DN/Agree	0.69	0	17 0	17	0% (0)	0% (0)	11.76% (2)	17.65% (3)	70.59% (12)	put a lot of effort into this course.
Strongly Agree Undecided Disagree Strongly Disagree Instructor is prepared and on time. Strongly Agree Undecided Disagree Strongly Disagree Undecided Disagree Strongly Disagree Strongly Agree Undecided Disagree Strongly Disagree N DN/ DN/ Strongly Agree Undecided Disagree Strongly Disagree The instructor explains material well 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0	SD	DNA	<u>N</u> D	<u>N</u>	F	D	С	В	Α	
Agree Disagree Instructor is prepared and on time. 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0 Strongly Agree Undecided Disagree Strongly Disagree The instructor explains material well 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0	-	0	17 0	17	0% (0)	0% (0)	0% (0)	47.06% (8)	52.94% (9)	
Strongly Agree Undecided Disagree Strongly Disagree One instructor explains material well 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0	SD	DNA	N D	Ň		Disagree	Undecided	Agree		
Agree Disagree The instructor explains material well 94.12% (16) 5.88% (1) 0% (0) 0% (0) 0% (0) 17 0	0.24	0	17 0	17	0% (0)	0% (0)	0% (0)	5.88% (1)	94.12% (16)	Instructor is prepared and on time.
	SD	DNA	N D	N		Disagree	Undecided	Agree		
·	0.24	0	17 0	17	0% (0)	0% (0)	0% (0)	5.88% (1)	94.12% (16)	

Spring 2024 Semester | Jason Sarfo | Course CIP Code: 51.3901

25 | Students Enrolled17 | Students Responded68% | Response Rate

Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
35.29% (6)	17.65% (3)	47.06% (8)	0% (0)	0% (0)	17	0	0.9	3.88
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
35.29% (6)	11.76% (2)	47.06% (8)	5.88% (1)	0% (0)	17	0	1	3.76
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
35.29% (6)	17.65% (3)	47.06% (8)	0% (0)	0% (0)	17	0	0.9	3.88
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
41.18% (7)	11.76% (2)	47.06% (8)	0% (0)	0% (0)	17	0	0.94	3.94
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
35.29% (6)	17.65% (3)	47.06% (8)	0% (0)	0% (0)	17	0	0.9	3.88
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ň	DNA	SD	M
35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.82
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
35.29% (6)	11.76% (2)	47.06% (8)	0% (0)	5.88% (1)	17	0	1.13	3.71
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
35.29% (6)	11.76% (2)	52.94% (9)	0% (0)	0% (0)	17	0	0.92	3.82
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
35.29% (6)	17.65% (3)	47.06% (8)	0% (0)	0% (0)	17	0	0.9	3.88
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
35.29% (6)	17.65% (3)	47.06% (8)	0% (0)	0% (0)	17	0	0.9	3.88
Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
		11	Disagras	Strongly	N	DNIA		М
Strongly Agree	Agree	Unaeciaea	Disagree	Disagree	····	DINA	מני	<u>I.Y.</u> i
	Agree 11.76% (2)	11.76% (2)	0% (0)		17	0	0.68	4.65
Agree				Disagree			0.68	
	Agree 35.29% (6) Strongly Agree 35.29% (6) Strongly Agree 41.18% (7) Strongly Agree 35.29% (6) Strongly Agree 35.29% (6)	Agree 35.29% (6) 17.65% (3) Strongly Agree Agree 35.29% (6) 11.76% (2) Strongly Agree Agree 41.18% (7) 11.76% (2) Strongly Agree Agree 35.29% (6) 17.65% (3) Strongly Agree 35.29% (6) 17.65% (3) Strongly Agree 35.29% (6) 11.76% (2) Strongly Agree 35.29% (6) 17.65% (3) Strongly Agree 35.29% (6) 17.65% (3) Strongly Agree 35.29% (6) 17.65% (3) Strongly Agree 435.29% (6) 17.65% (3) Strongly Agree 76.47% (13) 11.76% (2)	Agree 35.29% (6) 17.65% (3) 47.06% (8) Strongly Agree Agree Undecided (8) 35.29% (6) 11.76% (2) 47.06% (8) Strongly Agree Undecided (8) 35.29% (6) 17.65% (3) 47.06% (8) Strongly Agree Agree Undecided (8) 41.18% (7) 11.76% (2) 47.06% (8) Strongly Agree Agree Undecided (8) 35.29% (6) 17.65% (3) 47.06% (8) Strongly Agree Agree Undecided (8) 35.29% (6) 11.76% (2) 52.94% (9) Strongly Agree Agree Undecided (8) 35.29% (6) 11.76% (2) 52.94% (9) Strongly Agree Agree Undecided Agree Undecided (8) 35.29% (6) 17.65% (3) 47.06% (8) Strongly Agree Agree Undecided Agree Undecided (8) 35.29% (6) 17.65% (3) 47.06% (8) Strongly Agree Agree Undecided Agree Undecided (8) 35.29% (6) 17.65% (3) 47.06% (8)	Agree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) Strongly Agree Agree Undecided Disagree 35.29% (6) 11.76% (2) 47.06% (8) 5.88% (1) Strongly Agree Agree Undecided Disagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) Strongly Agree Undecided Disagree 41.18% (7) 11.76% (2) 47.06% (8) 0% (0) Strongly Agree Undecided Disagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) Strongly Agree Undecided Disagree 35.29% (6) 11.76% (2) 52.94% (9) 0% (0) Strongly Agree Undecided Disagree 35.29% (6) 11.76% (2) 52.94% (9) 0% (0) Strongly Agree Undecided Disagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) Strongly Agree Undecided Disagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) <td>Agree Jagree Jagree Jagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) 0% (0) Strongly Agree Jundecided Disagree Strongly Disagree 35.29% (6) 11.76% (2) 47.06% (8) 5.88% (1) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree Agree Undecided Disagree Strongly Disagree 41.18% (7) 11.76% (2) 47.06% (8) 0% (0) 0% (0) Strongly Agree Jundecided Disagree Strongly Disagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 35.29% (6) 11.76% (2) 52.94% (9) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 35.29% (6) 11.76% (2) 52.94% (9) 0% (0) 5.88% (1) Strongly Agree Undecided Disagree Strongly Disagree 35.29% (6) 17.</td> <td>Agree* Jagree* <th< td=""><td>Agree* From By Strongly Agree Agree Agree Undecided Disagree Strongly Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Agree Disagree Disagree N DNA Agree Agree Disagree Disagree Disagree Disagree N DNA Agree</td><td> Agree </td></th<></td>	Agree Jagree Jagree Jagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) 0% (0) Strongly Agree Jundecided Disagree Strongly Disagree 35.29% (6) 11.76% (2) 47.06% (8) 5.88% (1) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree Agree Undecided Disagree Strongly Disagree 41.18% (7) 11.76% (2) 47.06% (8) 0% (0) 0% (0) Strongly Agree Jundecided Disagree Strongly Disagree 35.29% (6) 17.65% (3) 47.06% (8) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 35.29% (6) 11.76% (2) 52.94% (9) 0% (0) 0% (0) Strongly Agree Undecided Disagree Strongly Disagree 35.29% (6) 11.76% (2) 52.94% (9) 0% (0) 5.88% (1) Strongly Agree Undecided Disagree Strongly Disagree 35.29% (6) 17.	Agree* Jagree* Jagree* <th< td=""><td>Agree* From By Strongly Agree Agree Agree Undecided Disagree Strongly Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Agree Disagree Disagree N DNA Agree Agree Disagree Disagree Disagree Disagree N DNA Agree</td><td> Agree </td></th<>	Agree* From By Strongly Agree Agree Agree Undecided Disagree Strongly Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Agree Agree Undecided Disagree Disagree Strongly Disagree N DNA Strongly Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Undecided Disagree Disagree N DNA Agree Agree Agree Disagree Disagree N DNA Agree Agree Disagree Disagree Disagree Disagree N DNA Agree	Agree

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
The required text was an important component of the course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Course assignments and exams are eval- uated and graded fairly.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Exams reflect the course content and classroom experience.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Grading procedures are easy to understand.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
l received feedback on my performance in a reasonable time frame.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
l have learned a great deal in this course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
Overall, I would recommend this course to other students.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
l put a lot of effort into this course.	70.59% (12)	17.65% (3)	11.76% (2)	0% (0)	0% (0)	17	0	0.69	4.59
	Α	В	С	D	F	Ņ	DNA	SD	M
What grade do you expect to receive in this course?	52.94% (9)	47.06% (8)	0% (0)	0% (0)	0% (0)	17	0	-	-
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ň	DNA	SD	M
Instructor is prepared and on time.	41.18% (7)	11.76% (2)	47.06% (8)	0% (0)	0% (0)	17	0	0.94	3.94
		A	Undecided	Disagree	Ctrongly	Ņ	DNA	SD	М
	Strongly Agree	Agree	Ondecided	Disagree	Strongly Disagree		DNA	32	

Spring 2024 Semester | Betty Winters | Course CIP Code: 51.3901

25 | Students Enrolled17 | Students Responded68% | Response Rate

Strongly Agree Undecided Disagree Strongly Disagree N DNA Sp.									
		Agree	Undecided	Disagree		Ņ	DNA	SD	M
Instructor was examples and expanding and items to clarify material. Septical Se	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.71
Strongly Service Strongly Service Strongly	0,	Agree	Undecided	Disagree		Ņ	DNA	SD	M
Name	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.71
Strongly Agree Strongly Agree Undecided Disagree Strongly Disagree N DNA Spansing Strongly Disagree N DNA Spansing N DNA Spans		Agree	Undecided	Disagree		Ņ	DNA	SD	M
Magree 1.76 Magree 1.7	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.71
Strongly		Agree	Undecided	Disagree		Ň	DNA	SD	M
Agree	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.7 <i>′</i>
Strongly Agree Undecided Disagree Strongly Disagree N DNA Sp.		Agree	Undecided	Disagree		Ņ	DNA	SD	M
No.	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.71
Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree Strongly Disagree N DNA SD		Agree	Undecided	Disagree		<u>N</u>	DNA	SD	M
Agree Strongly Agree Undecided Disagree Strongly Disagree N DNA SD	82.35% (14) :-	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.7
Strongly Agree Strongly Agree Undecided Disagree Strongly Disagree N DNA SD		Agree	Undecided	Disagree		<u>N</u>	DNA	SD	M
Name	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.7 ⁻
Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree Disag	• •	Agree	Undecided	Disagree	• • •	<u>N</u>	DNA	SD	M
Agree Disagree Disagree Disagree Disagree Disagree Disagree Disagree Disagree Disagree Disag	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.7 ⁻
through written documents and/or graphic presentation, in person or online. Strongly Agree Undecided Disagree Strongly Disagree N DNA SD DNA SD DISAGREE DI		Agree	Undecided	Disagree		Ņ	DNA	SD	M
Agree Series Instructor uses language that is clear and easy to understand. Strongly Agree Undecided Disagree Strongly Disagree November 17 0 0.6 The material is presented in an organized manner. Strongly Agree Undecided Disagree Strongly Disagree November 17 0 0.6 Strongly Agree Undecided Disagree Strongly Disagree November 17 0 0.6 Strongly Agree Undecided Disagree Strongly Disagree November 17 0 0.6 Strongly Agree Undecided Disagree Strongly Disagree November 17 0 0.6 Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree November 18 0.6 Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree November 19 0.6	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.7
Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree Strongly Disagree N DNA SD DISAGREE DISAGREE DISAGREE STRONGLY DISAGREE DISAGREE DISAGREE STRONGLY DISAGREE DISAGREE DISAGREE STRONGLY DISAGREE DISAGREE DISAGREE DISAGREE STRONGLY DISAGREE D		Agree	Undecided	Disagree		Ņ	DNA	SD	M
Agree 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) 17 0 0.6 Strongly Agree Undecided Disagree Strongly Disagree No. 17 0 0.6 The course objectives are clear. 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) 17 0 0.6 Strongly Agree Undecided Disagree Strongly Disagree No. 17 0 0.6	82.35% (14)	5.88% (1)	11.76% (2)	0% (0)	0% (0)	17	0	0.67	4.7
Strongly Agree Undecided Disagree Strongly Disagree Strongly Disagree The course objectives are clear. Strongly Agree Undecided Disagree Strongly Disagree Disagree Strongly Disagree Number		Agree	Undecided	Disagree		Ņ	DNA	SD	M
Agree Disagree The course objectives are clear. 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) 17 0 0.6 Strongly Agree Agree Undecided Disagree Strongly Disagree N DNA SD	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
Strongly Agree Undecided Disagree Strongly <u>N DNA SD</u> Agree Disagree		Agree	Undecided	Disagree		Ņ	DNA	SD	M
Agree Disagree	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.6
		Agree	Undecided	Disagree		<u>N</u>	DNA	SD	M
The required text is comprehensible. 76.47% (13) 11.76% (2) 11.76% (2) 0% (0) 0% (0) 17 0 0.6	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
The required text is comprehensible.		Agree 82.35% (14) Strongly Agree 82.35% (14)	Agree 82.35% (14) 5.88% (1) Strongly Agree 76.47% (13) 11.76% (2) Strongly Agree 76.47% (13) 11.76% (2)	Agree Strongly Agree Undecided Undecided Undecided Agree 82.35% (14) 5.88% (1) 11.76% (2) Strongly Agree Agree Undecided Undecided Agree 82.35% (14) 5.88% (1) 11.76% (2) Strongly Agree Agree Undecided Undecided Undecided Agree 82.35% (14) 5.88% (1) 11.76% (2) Strongly Agree Agree Undecided Agree Undecided	Agree James (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Question Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree 82.35% (14) 5.88% (1) 11.76% (2) 0% (0) Strongly Agree Agree Undecided Disagree Disagree 82.35% (14) 5.88% (1) 11.76% (2) <td< td=""><td> Agree </td><td> Agree </td><td> Strongly Agree Undecided Disagree Strongly Disagree N DNA </td><td> </td></td<>	Agree	Agree	Strongly Agree Undecided Disagree Strongly Disagree N DNA	

	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
The required text was an important component of the course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	<u>N</u>	DNA	SD	M
Course assignments and exams are eval- uated and graded fairly.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
Exams reflect the course content and classroom experience.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ň	DNA	SD	M
Grading procedures are easy to understand.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
l received feedback on my performance in a reasonable time frame.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
l have learned a great deal in this course.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
Overall, I would recommend this course to other students.	76.47% (13)	11.76% (2)	11.76% (2)	0% (0)	0% (0)	17	0	0.68	4.65
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
I put a lot of effort into this course.	70.59% (12)	17.65% (3)	11.76% (2)	0% (0)	0% (0)	17	0	0.69	4.59
	Α	В	С	D	F	<u>N</u>	DNA	SD	М
What grade do you expect to receive in this course?	52.94% (9)	47.06% (8)	0% (0)	0% (0)	0% (0)	17	0	-	-
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	Ņ	DNA	SD	M
Instructor is prepared and on time.	88.24% (15)	5.88% (1)	5.88% (1)	0% (0)	0% (0)	17	0	0.51	4.82
	Strongly Agree	Agree	Undecided	Disagree	Strongly Disagree	N	DNA	SD	M
The instructor explains material well through verbal communication.	88.24% (15)	5.88% (1)	5.88% (1)	0% (0)	0% (0)	17	0	0.51	4.82
-									